| > restart
X 1 1

> FEcua = +—4+— |+ (x) T S xj

o ( sqrt(x* +y(x)?) ¥ &) J ( sat(X +y(0)?) Yy’
-diff (y(x),x) =0 | | | .

Ecua = - +— + + y(x) + — ) — y(x) | =0

! R ( ) |

| > with(DEtools) :

> odeadvisor(Ecua)

i [ exact]
>M=—2 411
¢ +y2 . Y
M=—2 4141
x2 -|-y2 . Y
>N=—JL—+i—%
2, 2 y
X +y y
i ¢ -l-y2 Y y
> DerMy = diff (M, y)
DerMy := - 4)6% - Lz
i (x* +57) y
> DerNx == diff (N, x)
DerNx = - J'VT — Lz
(x2 —I—yz) Y

> Comprobar := DerMy — DerNx=0
Comprobar :==0=0

IntMx =/ ¢ +y2 +In(x) + i

> SolGral = IntMx + int( (N — diff (IntMx, y)),y) = CI
SolGral ==/ ¢ +y2 +1In(x) + % +1In(y) = _CI

> IntMx = int(M, x)

> IntNy := int(N, y)
IntNy :=+/ X +y2 +In(y) + %

> SolGralDos = IntNy + int( (M — diff (IntNy, x) ), x) = _CI
SolGralDos =+ x* -|-y2 +In(x) + f +In(y) = _CI
> restart
> Ecua == (4-x3-y(x)2 -|—3-xz-y(x)3 +2-x) + (2-x4-y(x) +3-x3-y(x)2) diff (y(x),x) =0
Ecua :=4x3y(x)2 -|-3xzy(x)3 +2x+ (2x4y(x) +3x3y(x)2) (— (x)) =0
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> with(DEtools) :
> odeadvisor(Ecua)

> M==4x3y2+3x2y3—|-2x

M:=4x3y2+3x2y3+2x

> N:=2x4y—|-3x3y2

> IntMx = int(M, x)

[ exact, rational]

N:=2x4y—}-3x3y2

IntMx = x4y2 +x y3 +x
> SolGral = IntMx + int( (N — diff (IntMx, y) ),y) = _CI
SolGral := x" y2 +x y3 +x=

> odeadvisor(EcuaDos)

> FactInt = intfactor(EcuaDos)

[ rational]

Factlnt == x

[ > EcuaTres == simplify(FactInt- ( EcuaDos) )

EcuaTres = x (3 y(x)2 (% y(x)) ¢ +2 y(x) (%y(x)) X —|-3xy(x)3 +4x2y(x)2 —|—2)

=0

> odeadvisor(EcuaTres)

> restart

> Ecua = (2-x-y(x)> =3-9(x)°) + (7 =3-x:9(x)%) -diff (y(x),x) =0
Ecua :=2xy(x)2 —3y(x)3 + (7 —3xy(x)2) (%y(x)) =0

> with(DEtools) :
> odeadvisor(Ecua)

> M:= 2~)c'y2 —3-y3
> N:=7 —?axy2
> DerMy := diff (M, y)

> DerNx = diff (N, x)

> EcuaFactlnt := int(i,g) =int(
g

[ exact, rational]

[ rational]
M:=2 xy2 -3 y3
_ 2
N=-3xy +7
DerMy:=4xy—9y2
_ 2
DerNx = -3y

(DerNx — DerMy) )
M Y

_ClI
> EcuaDos = (4-362-)/(36)2 + 3-x-y(x)3 +2) + (2-x3-y(x) +3-x2-y(x)2) diff (y(x),x) =0
EcuaDos :=4x2y()c)2 —F3xy(x)3 +2 4+ (2 x3y(x) +3x2y(x)2) (% y(x)) =0
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EcuaFactint =1In(g) = -2 In(y)
isolate( EcuaFactlnt, g)

§~ 2
y
intfactor(Ecua)
1
y(x)?
Factlnt := 3
y(x)
Factlnt == I 3
y(x)

EcuaFExacta == expand(Factint- Ecua)

EcuaExacta:=2 x —3 y(x) +

odeadvisor(EcuaExacta)
[ exact, rational]

2 403
MM = expand( (22" =35") j

2

y
MM=2x—3y
_ (7-3x)%)

NN := expand 5

NN = lz —3x

y

DerMMy = diff (MM, y)

DerMMy .= -3
DerNNx = diff (NN, x)

DerNNx := -3
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